Measurement and Linear Regression
Teacher Notes

I. Collect the data

1. Be sure students realize that each line is to be measure twice.  Once using the inches side of the ruler and once using the centimeters side of the ruler.  Data should be similar to the following:
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II. Analyze the data

1. If 
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 and 
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 already contain data, then students should clear out the data.  They can do they by arrowing to the top of 
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 and highlighting it, then pressing Clear, then Enter.  Should students accidentally delete a list completely, it can be resent by pressing 2nd Stat, then choosing option 5: Set up Editor and pressing enter.  In this step it is also very important that students correctly pair the x and y coordinates together. 

2. Be sure that only one plot is turned on.  

3. Setting the window is extremely important.  If students skip this step they may not be able to see the scatterplot.

4. If students have trouble, be sure to check that there is nothing stored in Y=.

5. In this menu, there is another LinReg (Option #8).  We use number 4 in this activity because it gives us our linear regression in slope-intercept form.

6. If students only enter LinReg(ax+b) then press enter, the calculator will automatically do a regression on 
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.  The 
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 at the end will paste the equation into Y= for you.  

III. Analyze the results (Sample results are included below.)

1. What is the equation, in slope-intercept form, of the line passing through your points?  
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2. What is the slope of the line passing through your points?

2.53
3. What is the y-intercept of the line passing through you points?

0
4. Remembering that slope is “change in y over change in x”, what would be the units for the slope?

centimeters/inch
5. What does the slope indicate in this situation?

The number of centimeters in one inch
6. What does the y-intercept indicate in this situation?

The number of centimeters in zero inches
7. Is the y-intercept what you would expect it to be?  Explain.

Yes.  I would expect the y-intercept to be zero since the y-intercept is the number of centimeters when a line measures zero inches.  
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